HEEREm 5150

Y =M/ % 2019 7TH26H

EEWE (BRE pss-64 HBR
L WERAM X O (HIFHE) B(X). HEV(X)122WT,

*EaX +8)=aBE(X)+ 8 (a,8€R).
V(X +8)=a*V(X) (o,B€R).

B ¢ R — RIZH LT,
(1) X MHRRERZBO & & B(6(X)) = ¢(x)P(X = z).
(mXﬁﬁﬁ@%%%ﬁ@t%ﬂmxn:/mw@ﬂmm.
BU f(z) 12 X OB, -

V(X)) = E((X - E(X))?) = B(X?) - E(X)”.

HAABROFEHE (BEXEASFETY)

(1] 1,1,2,2,3,3 £ EFE DN/ 6 D — F DD 6 2 Z2 FKRFHIZED 19, IO I
A= RDOFRSOmRKMEEZ X &35, ZDLE EQ2Y) 2Kk &K,

FITHEE

a(l—vx) 0<z<1

0 Z DAl =35

[2] X I3 B R AT, BEREK f(x) = {
(1) 58 a D% ke &,
(2) B(X), V(X) ks &,
(3) Y =3X + 512/ LT, E(Y), V(Y) ZRed &,

[3] MERZE X DIERIAA N(0,1) IS &35,
(1) B(X") =(n—1DEX"?) (n=2,3,4,--+) &t
(2) E(X™) (n € N) %3k &,



